19 people each took 5
pairs of sockson a
tramping trip. How many
pairs of socks was this?

A library has 41 shelves
of mystery novels with an
average of 32 books per
shelf. How many
mystery novelsin total ?

A total of 350 cans of
peaches are packed into
14 boxes of the same size.
How many cans per box?

Max works out he drinks
9 litres of milk aweek.
How many litres does he
drink in ayear?

Necklaces are made with
39 large glass beads for
each necklace. How
many beads will be
needed for 36 necklaces?

Cameron paid $432 for 36
identical boxes of
chocolates for friends at
Christmas. How many
dollars did each box cost?

The 37 tables at Big
Scarlet Restaurant each
had 8 place settings.
When full, the restaurant
seated how many people?

Michel has 144 biscuits to
share among 24 people. If
each person has the same
number how many will
each get?

A camp orders 135 loaves
of bread per day for atotal
of 12 days. How many
loaves of bread atogether?

A farmer has 7 pigsin each
of 24 pens. How many
pigs are there atogether?

17 dogs each have alitter
of 12 pups. How many
pups isthis?

Over aperiod of 14 weeks
Sam worked atotal of 448
hours. On average, how
many hoursisthis per
week?

A jar held 357 marbles and
these were shared equally
among 7 boys. How many
marbles did each boy get?

Rania baked 48 dozen hot
cross buns, then packaged
them into packets each
containing 16 buns. How
many packets did shefill?




